
How many tens of tens of 
thousandsthousands are there in 
this numbernumber?
1 942 600

KS2 Revision Maths

Pla
ce 

Va
lue

4 tens of thousandstens of thousands:
1 942 600

Pla
ce 

Va
lue

What number do you 
get if you count backcount back 
4 from 2?

Ne
ga

tiv
e N

um
be

rs

You get -2

Ne
ga

tiv
e N

um
be

rs

RoundRound 8962 to the 
nearest thousand.

Ro
un

din
g

9000

Ro
un

din
g

What number do these 
Roman NumeralsRoman Numerals 
represent?
CCCXXIII

Ro
ma

n 
Nu

me
ra

ls 323

Ro
ma

n 
Nu

me
ra

ls

Complete this 
number bondnumber bond.
81 + ? = 100

Nu
mb

er
 Fa

ct
s f

or
 M

en
ta

l C
alc

ula
tio

ns

81 + 19 = 100

Nu
mb

er
 Fa

ct
s f

or
 M

en
ta

l C
alc

ula
tio

ns
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1 1

2 2

3 3

4 4

5 5

Tens of thousands

1 20–2 –1



EstimateEstimate the answer to 
this calculationcalculation before 
working it out.
32 + 51 = ?

Mo
re

 M
en

ta
l A

dd
iti

on
 a

nd
 Su

bt
ra

ct
ion

An estimate answerestimate answer 
could be: 30 + 50 = 80
The actual answer is: 
32 + 51 = 83

Mo
re

 M
en

ta
l A

dd
iti

on
 a

nd
 Su

bt
ra

ct
ion

Work out the answer to 
this addition calculationaddition calculation.
                531
           +  545              _____
              _____Wr

itt
en

 A
dd

iti
on

       531
          +   545              _____
              _____

Wr
itt

en
 A

dd
iti

on

Work out the answer to 
this subtraction calculationsubtraction calculation.  
                636
            –  541              _____
              _____Wr

itt
en

 Su
bt

ra
ct

ion

Wr
itt

en
 Su

bt
ra

ct
ion

What are the common common 
factorsfactors of 12 and 16?

All
 K

in
ds

 o
f N

um
be

rs

1, 2 and 4

All
 K

in
ds

 o
f N

um
be

rs

Which of these is a 
cube numbercube number?
52    3    93    2 × 2

Pr
im

e, 
Sq

ua
re

 a
nd

 C
ub

e N
um

be
rs

93

Pr
im

e, 
Sq

ua
re

 a
nd

 C
ub

e N
um

be
rs
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6 6

7 7

8 8

9 9

10 10

1076

                636
           –   541              _____
              _____95

5 1



Work out the answer 
to this multiplication multiplication 
calculationcalculation.
856.3 × 10 = ?

Mu
lti

ply
ing

 a
nd

 D
ivi

din
g

8563

Mu
lti

ply
ing

 a
nd

 D
ivi

din
g

Use the gridgrid to work 
out the answer to this 
multiplication calculationmultiplication calculation.

Wr
itt

en
 M

ult
ipl

ica
tio

n 

Wr
itt

en
 M

ult
ipl

ica
tio

n 

Work out the answer to 
this division calculationdivision calculation.

6  84

Sh
or

t a
nd

 Lo
ng

 D
ivi

sio
n

           14
      6  824

Sh
or

t a
nd

 Lo
ng

 D
ivi

sio
n

What fractionfraction of this 
pizza is left on the plate?

Fr
ac

tio
ns

1
4  

Fr
ac

tio
ns

Work out the answer to 
this fractions additionfractions addition.
1
6 + 23 = ?

Ad
din

g, 
Su

bt
ra

ct
ing

, M
ult

ipl
yin

g a
nd

 
Div

idi
ng

 Fr
ac

tio
ns

5
6  

Ad
din

g, 
Su

bt
ra

ct
ing

, M
ult

ipl
yin

g a
nd

 
Div

idi
ng

 Fr
ac

tio
ns
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12 12

13 13

14 14

15 15

× 3 1 2

3

× 3 1 2

3 9 3 6



What is 0.75 as 
a fractionfraction?

De
cim

al 
Fr

ac
tio

ns 3
4 

De
cim

al 
Fr

ac
tio

ns

Write the mixed numbermixed number that 
this picture represents. 

Im
pr

op
er

 Fr
ac

tio
ns

 a
nd

 M
ixe

d N
um

be
rs

31
2

Im
pr

op
er

 Fr
ac

tio
ns

 a
nd

 M
ixe

d N
um

be
rs

Pe
rc

en
ta

ge
s

14

Pe
rc

en
ta

ge
s

ConvertConvert 6300 metresmetres 
into kilometreskilometres. 

Me
as

ur
em

en
t ¯

 U
nit

s o
f M

ea
su

re
me

nt

6.30 km

Me
as

ur
em

en
t ¯

 U
nit

s o
f M

ea
su

re
me

nt

Work out the perimeterperimeter 
of this rectangle.

Pe
rim

et
er

 a
nd

 A
re

a

17cm:
6 cm + 6 cm + 2.5 cm 
+ 2.5 cm = 17 cm

Pe
rim

et
er

 a
nd

 A
re

a
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16 16

17 17

18 18

19 19

20 20

What is 40%40% of 35?

6 cm

2.5 cm



Add the following 
amounts of moneymoney. 
Give your answer in £.
£3.00           652p 

Ar
ea

, V
olu

me
 a

nd
 M

on
ey

£3.00 + £6.52 = £9.52

Ar
ea

, V
olu

me
 a

nd
 M

on
ey

Look at the time shown on 
the clock. Give this time as 
24-hour time24-hour time (pm).

Ti
me

23.15

Ti
me

An
gle

s, 
Lin

es
 a

nd
 C

irc
les An obtuse angleobtuse angle. (The 

angle is greater than 
90° but less 
than 180°.) 

An
gle

s, 
Lin

es
 a

nd
 C

irc
les

Which of these shapes 
are irregular shapesirregular shapes?

A    B    C    D    E    F2-
D 

Sh
ap

es

A, D and F 

2-
D 

Sh
ap

es

Which of these shapes 
are 3-D shapes3-D shapes?

Cuboid   Square   Circle 
Cone   Rectangle   Cylinder

3-
D 

Sh
ap

es
 a

nd
 N

et
s

Cuboid, cone 
and cylinder

3-
D 

Sh
ap

es
 a

nd
 N

et
s
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21 21

22 22

23 23

24 24

25 25

What is the name given 
to this angleangle?

KS2 Revision Maths

12

6

39

4

10

5
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How many lines of 
symmetrysymmetry does a 
rectangle have?

Sy
mm

et
ry

Two:

Sy
mm

et
ry

26 26
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What is the vertical axisvertical axis 
of a grid called?

Plo
tti

ng
 Po

int
s The y axis

Plo
tti

ng
 Po

int
s

Tr
an

sla
tio

n

When points are 
moved across, 
up or down a 
coordinate grid.

Tr
an

sla
tio

n

What is reflectionreflection 
of points in a 
coordinate grid?

Re
fle

ct
ion

When the axes of a 
coordinate grid are 
used as lines 
to reflect shapes.

Re
fle

ct
ion

True or false?
You can find missing missing 
coordinatescoordinates by using your 
knowledge of shapes.

Mi
ssi

ng
 C

oo
rdi

na
te

s True. If you know how 
a shape should look, 
you can work out the 
missing coordinatesmissing coordinates. 

Mi
ssi

ng
 C

oo
rdi

na
te

s
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28 28

29 29

30 30

What is translationtranslation 
of points in a 
coordinate grid?



This pie chartpie chart shows 
how many children 
in a class of 24 
preferred each of 
these four colours. 
How many children 
prefer green?

All
 T

yp
es

 o
f C

ha
rt

s

6 children

All
 T

yp
es

 o
f C

ha
rt

s

31 31
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How do you find the 
meanmean of a set of data?

Ti
me

ta
ble

s a
nd

 C
alc

ula
tin

g t
he

 M
ea

n

By adding up all the 
results and then dividing 
them by the number of 
results. 

Ti
me

ta
ble

s a
nd

 C
alc

ula
tin

g t
he

 M
ea

n

Ra
tio

 a
nd

 Pr
op

or
tio

n

18

Ra
tio

 a
nd

 Pr
op

or
tio

n

What is the value of value of x?
3x + 1 = 10

So
lvi

ng
 E

qu
at

ion
s 3

(3 × 3 + 1 = 10)

So
lvi

ng
 E

qu
at

ion
s
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32 32

33 33

34 34

The ratioratio of girls to boys 
in a class is 3 : 1. There are 
6 boys in the class. How 
many girls are there?

1
2

1
4

1
81

8
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